Functions 1 (answers)

@ f(g(-3)=0 () g(f(x) = 2(x+3) (c) For f *(x) = (x +3) = g(f(X)

(a) h(f(2) = 28 (b) f(h(x)) = 9x*+42x+52 (c) x=-1 or x=4

Proof
(a) p=2 and q=4 (b)  h(f(x)= 1@0x*-1) () k=5
@ v (b) g © 2oy "y

AT AT\ A

Functions 2 (answers)

@ i) 17 i) 12

(b) i) 9x* — 3x i) 3a°+3a-1 iii) k*+2k*+2k* +k
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(a) f(h(x)) = Y

(b) f’l(x):£+1 , x#0, xeR
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@) Proof

(b) Proof

y = f(x-9) -10



